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Status of alignment

8-May-07

Period | Status TODO Production
status
W32 | DONE REDO
W33 - ALL
W34 | DONE REDO
W35 - ALL
W36 | DONE REDO
W37 | DONE - next
W40 | DONE | MA pitch, Z, Out. ST, ST sig. propag. | Produced
W41 | DONE Outer ST, ST sig. propag. Produced
W42 | DONE - Produced?
W43 | DONE ST sig. propag. Produced
W44 | DONE Outer ST, ST sig. propag. Produced
W45 | DONE - Produced
W46 | DONE | Z-check, Outer ST, ST sig. Propag. Produced
Alignment




Outer Straws
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Outer ST alingnment
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Remaining problems
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Remaining problems

DrawDUvsT - ( GM01 GM02 GMO03 GMO04) abs(T_duVect)<1

| e | gm_"u;z_; | e T e Nt 7 At e 10 | [EMETv__ | e e 1 . T % it s W s | [EEHT_ | ..................
TR [Erfrfan T003T | [Evas JEHE |

g:':g
=5
5 |

B X R =
o1 ;_+'|'H++1++|_++ —T JE“ g{-H'HH-} r u.usJ ’ e = } LHJT + T
E -H-+ i ty byt B0z of J[ ++ {':
s :_ ++ ++|' + 0035 :_ + +.H, 5 wl ‘H‘ h‘ E _I_+ |; +++++ +++ ~|~ |; ]
P LT eLii th*ﬂw AR TR h

3 + °F - 3
20sf- ‘FH+‘|'+ -a.u:-ss— = ++-} -u.n1§— W
s # . E
-u.1:_ P +Jr-|.|.+++ :::: H }

EM

0.5 i'

1 1 | 0150 1 1 1 a0 kool b bslyrs b e bl B by oyl s byl Lasa lagalag
- IJE |] |]4 ~:l l:l! |: |] |]2 ':l |:"1 [l 2. EIE {' |:l1 -':' EZ |:| {l EIE |] 04 |] 0E 0.02-0.075-0.07-0.005 0 0.00F 0.01 0015 0,02 -00s 004 D02 0 002 00£ 008
[tg tha ta g [t theta] [ty theta] [ty thata]

T S E—————— | GP:"::ZU- | e —— | _GHD.Y-H - | S Py — | G'dlﬂl!f:‘ | ) Y SR £ A RS . | {?::'.'lﬂx-'l
_— e § OG0 ¥ — Maar DA 23 - - Mm el (T Mollan 0 DOAGT 2
= [ M G E- E i £ 342 E [ Maan w00 2322 B2 - W 0 DETE S
SO AMS 089732 12 - 5 LmMIns E I FMD  OOIID E F PMEZ BN

o AMSy 01133 I]‘I: 5 TS ond - FESy 0105 o150 ) B

N i :{
: i f HH P ma bt | ; | ht ++++**+*+*}++M*hﬂ“]l

| o 1'_
F t
’u BOSE #,l_H- +++H

oF

M

it M
]lhjf“lﬂﬁmfﬁyﬁﬂ o L et 4 }Hﬁ i s
{"ME_ { 'ﬂ'm;' }l -u.m}][ }l + .3_1;++++]l+

PRI [ TS (NI SR [N TR S S MU N U Y SEPIE U T U ST T S T U T T N T N TR ETTNI ETETH FETHl FENTH SN TT NTET | |
-0.04 -0.02 [] 0.02 D.04 -0.04 -0.02 [ 0.0z ons -0.02-0.015-0.01-0.005 0 D005 0.01 D013 I]{IE- -{IE'd E I {IEE {IE'I- {l".'IE

rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr

8-May-07 Alignment 7




Remaining problems

DrawDUvsT - {DCIZM} abs{T duvect}{ﬁ

Alignment

8-May-07



Problems cont.

Problems with alignment performance:

1. Some periods in 2006 don’t have alignment
runs at all (e.g. W43)

2. Sometimes shift crew decided to take alignment run when
there is problem with some of crucial detectors.
E.g. W44 — alignment taken when GMs (used in align.
procedure as pivot points) were switched off...

To do good alignment we need “alignment runs”:
— FIELDOFF and FIELDON
— Both taken at least once per period
— After each “long” access to the zone
—  With the same detector conditions as for physics runs
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